
 
SP.554 Find: 

𝛀 = ∫
𝟖𝒙 − 𝟏

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙; 𝒙 ∈ (𝟎,∞) 

Proposed by Daniel Sitaru – Romania  

Solution 1 by proposer 

𝛀 = ∫
𝟖𝒙 − 𝟏

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙 =

𝟏

𝟕
∫
𝟕(𝟖𝒙 − 𝟏)

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙 = 

=
𝟏

𝟕
∫
𝟓𝟔𝒙 − 𝟕

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙 =

𝟏

𝟕
∫
𝟖𝒆𝟖𝒙 + 𝟓𝟔𝒙 − 𝟖𝒆𝟖𝒙 − 𝟕

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙 = 

=
𝟏

𝟕
∫
𝟖(𝒆𝟖𝒙 + 𝟕𝒙)

𝒆𝟖𝒙 + 𝟖𝒙
𝒅𝒙 −

𝟏

𝟕
∫
𝟖𝒆𝟖𝒙 + 𝟕

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙 = 

=
𝟏

𝟕
∫𝟖𝒅𝒙 −

𝟏

𝟕
∫
(𝒆𝟖𝒙 + 𝟕𝒙)′

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙 =

𝟖𝒙

𝟕
−
𝟏

𝟕
𝐥𝐧(𝒆𝟖𝒙 + 𝟕𝒙) + 𝑪 

Solution 2 by Marin Chirciu-Romania 

𝛀 = ∫
𝟖𝒙 − 𝟏

𝒆𝟖𝒙 + 𝟕𝒙
𝒅𝒙 = ∫(

𝟖

𝟕
−
𝟏

𝟕
⋅
𝟖𝒆𝟖𝒙 + 𝟕

𝒆𝟖𝒙 + 𝟕𝒙
) =

𝟖

𝟕
𝒙 −

𝟏

𝟕
𝐥𝐧(𝒆𝟖𝒙 + 𝟖𝒙) + 𝑪 

Remark: 

If 𝒎 ∈ ℝ, 𝒏 ∈ (𝟎,∞) then find: 

𝛀 = ∫
𝒎𝒙 − 𝟏

𝒆𝒎𝒙 + 𝒏𝒙
𝒅𝒙. 

Solution. 

𝛀 = ∫
𝒎𝒙 − 𝟏

𝒆𝒎𝒙 + 𝒏𝒙
𝒅𝒙 = ∫(

𝒎

𝒏
−
𝟏

𝒏
⋅
𝒎𝒆𝒎𝒙 + 𝒏

𝒆𝒎𝒙 + 𝒏𝒙
) =

𝒎

𝒏
𝒙 −

𝟏

𝒏
𝐥𝐧(𝒆𝒎𝒙 + 𝒏𝒙) + 𝑪 


